1. The execution of a process can be described as a sequence of state transitions. Please
draw the state transition diagram for aprocess. (10%)

2. J2EE  Microsoft .Net (10%)

3. Please design a data structure to represent the polynomial with the following form:
P(X)=aXtan X"+, tapxta,  (10%)

4. (1) FAT MBR FAT * 3
sectors Low Level Format Quick
Format 4%
(2) Windows XP FAT sector
400 bytes 50 tracks cluster 10  sectors track
30 sectors (3%)
(3) MBR FAT
5KB (3%)
1. normalization INF
2NF 3NF BCNF (20%)
2. (1) Hub
Switch Bridge Router (12%)
(2) SNMP SMTP POP3 HTTP
(8%)
3. (1)
(6%)
2

structured  reuse

(6%)

3)
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